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ABSTRACT. We recall a Ramanujan’s integral: ∫0
1
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 .

I. Ramanujan’s Integral

Entry 1. (Ramanujan ∼ 1915)
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Formula (1) appears in : B.C. Berndt , Ramanujan' s Notebooks Part IV , p .325 , Entry 40 . 

II. Related Integrals and Series
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Entry 3.   If   0 < a ≤ 1 ≤ b ≤ 2 , then
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Entry 7.  If  ϕ =
1+ 5

2
  , then

π 2

15
= ln(ϕ) +

n=1

∞ (-1)n-1 (n + 2)ϕ-n-2

n (n + 1)2
F1, 1; n + 2;ϕ-2 (36)

π 2

15
= ln(ϕ) +

n=1

∞ (-1)n-1 (n + 2)ϕ-n-1

n (n + 1)2
F1, n + 1; n + 2; -ϕ-1 (37)

π 2

15
=

1

2
(ln(ϕ))2 +

n=1

∞ ϕ-n

n2
Fn, n; n + 1; -ϕ-1 (38)

π 2

15
=

1

2
(ln(ϕ))2 +

n=1

∞ ϕ-2 n

n2
F1, n; n + 1;ϕ-2 (39)

π 2

15
=

1

2
(ln(ϕ))2 +

n=1

∞ ϕ-2 n+1

n2
F1, 1; n + 1; -ϕ-1 (40)

π 2

15
=

1

2
(ln(ϕ))2 +

n=0

∞ 2-2 n ϕ-2 n-1

(2 n + 1)2
F 2 n + 1, 2 n + 1; 2 n + 2; -

1

2ϕ
(41)

π 2

15
= 3 

n=0

∞ ϕ-6 n-6

n + 1


k=0

n 1

2 k + 1
+ 2 

n=0

∞ ϕ-6 n-3

(2 n + 1)2
F 1, n +

1

2
; n +

3

2
;ϕ-6

(42)

F(a, b; c; x) is the Gauss hypergeometric function.
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